
Repetition week 12.  

Two-way analysis of variance 
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1. 1 2 1: 0   : at least one is different from 0. 0 aH H    

2. 1 2 1: 0   : at least one is different from 0. 0 bH H    

3. 11 12 1: 0   : at least one is different from 0. 0 abH H    
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Control Charts 

Let T be a test statistics based on a sample 1 2, , , nX X X . 

Control Chart: LCL = T Tk − , CL = T , UCL = T Tk +  

Reduce the probability of false alarm: increase k. 

Increase the probability of detecting out of control: increase n. 
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